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This puzzle has a large number in the middle, which is the sum of the four numbers that surround it.

Sample:
91.5

is the sum
3

tenths

4

tenths

9

tens

8

tenths

11.5
is the sum

3

tenths

1

ten

8

tenths

11.5
is the sum

1

ten

8

tenths

4

tenths

Example:
0.3 + 0.4 + 90 + 0.8 = 91.5

Example:
0.3 + 10 + 0.8 + 0.4 = 11.5

Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.

Exactly one of the four numbers has to be one of these numbers: 9 tens, 8 tens,  or 1 ten.

The other three numbers have to all be DIFFERENT and must be from these: 8 tenths, 2 tenths, 3 

tenths,  or 4 tenths.

81.32

tenths

8

tens

8

tenths

3

tenths

80.9 2

tenths

tenths

tenths

tenths

tenths

10.9 2

tenths

tenths

91.38

tenths tenths

90.9 9

tens

3

tenths

4

tenths tenths

1

ten
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Make change.  You can use $20, $10, $5, $1, 25¢, 10¢, 5¢,  or 1¢.

Emma has $32.71.  She has 5 bills and 5 coins.  How?

$1

10¢

Connor has $68.31.  He has 9 bills and 6 coins.  How?

Adam has $80.06.  He has 7 bills and 2 coins.  How?

2 0
+ 3 9

Do you use A.M. or P.M. to 
write 9:00 in the morning?

If H = 6, then what does H 
plus H equal?

Insert a comma in the appropriate 
place in this sentence.
First I am going to go to the store 
and then I am going to go to 
school.

If  = 12, then 17 -  = 
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Alex had to make 14 visits to the dentist last 
year to take care of his braces. Each visit 
cost $123. How much did the visits cost in all?

David picked 4/6 of a bushel of apples. He 

gave his aunt 1
6

 of a bushel. How much of 

the bushel of apples does he have left?

Unscramble these letters to spell a two-digit number with two different digits.

yf-iunroten   (94)

gti-ehhyttir  

It was a sunny day in Tickfaw.  Not a cloud was in sight.  In fact, Tickfaw had exactly 7 

hours of sun for the day.

Landfall had sunrise at 5:39 a.m. and sunset at 9:36 p.m. and also had a completely sunny 

day.  Amazing!

How much total sun in hours and minutes did Landfall get?

Which city had more sun for the day?

word root cede can mean go recede, precede
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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

In the equation 34 x 414 = 
14,076, which number is the 
product?

8 x (4 + 10) triple 20 = 

What is the sum of 10 and 
725? 72,  84,  96,  108,  120,  132, 

 ,   156,  168

Sara bought six candy bars.
It cost $3.06.  How much 
did each candy bar cost?

How many tens are in the 
number 94,000? G,  I,  K,  ,   O,  Q,  

S,  U,  W,  Y
18 ÷ ___ = 9

10 x ___ = 100 = ___ x 50

5 x ___ = 45 = ___ x 3

8 x ___ = 96 = ___ x 16

7 x ___ = 63 = ___ x 21

5 x ___ = 50 = ___ x 25

45,  50,  55,  60,  

,   70,  75,  80,  85

3
4

567
8
9
10

11 12 1
2

Draw a small clock that 
shows 10 minutes to 7:00.
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Max bought a box of 
dog biscuits. The box 
cost $1.40. He gave the 
storekeeper $2. How 
much change will he get 
back?

Robert has 3 bags of 
Canadian flags. Each 
bag has 5 flags. Ava 
takes 8 flags from 
Robert. How many flags 
does Robert have left?

David had three dollar 
bills, two quarters, and 
seven nickels. He spent 
$1.83 on a Groundhog 
Day poster. How much 
money does he have 
left?

Write the number for 
four thousand,  thirty-six.

You ask Maria for the time. 
She says it is four minutes past 
two.  Write the time on your 
digital clock:

5
x 1 2

4
x 1 1

Write the length in inches.

in. 1 2 3 4 5 6

12

current time (pm)

12

time party starts (pm)

How long until the party?

If H + H = 8, then what does 
H equal? 3 5

+ 5 6

How many tenths are in 5?
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Write four words to describe these pigs.

1.

2.

3.

4.

Use one or more of these words also:
snorting small
chubby playful
pink tumbling

Write a sentence to describe the picture.
Use some of the above words.

This is the look at one cube
that is turned around a few times.

3
T

9

T
H

9

6
5

3

This pattern can be folded into
the cube.  Fill in the missing boxes.

9
3

5

Write the unshaded part as a decimal.

If you add 5 to me, the sum is 
40.  What number am I?
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How many days are in May? Gru was just after the big 
elephant in line. The big 
elephant was third. In 
which position was Gru?

Color 21%.

What is one-tenth of 30?
7 0

+ 9 3

uwayk

owaka

uhayk

awake

Write the ordinal number that 
comes after seventy-fifth.

Mr. and Mrs. Martin have 
three boys. They bought 
four white t-shirts for 
each boy. How many 
white t-shirts did they buy 
in all?

5 9
+ 7 7

Round 413,276 to the nearest 
thousand.

2 4

9 5
+ 1 8

6 6
+ 9 7

Circle the relative adverb.
This is the school where I used to 
have speech classes.

How many feet are in four 
yards?

List the first three multiples of 8.
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88
- 72

83
+ 62

79
- 82

58
+ 51

221
- 56

89
+ 29

97
+ 26

331
- 28

03
+ 26

55
- 91

56
+ 84

321
- 62

721
- 29

331
- 63

94
+ 82

99
+ 87

211
- 02

93
+ 42

79
+ 62

04
+ 84

741
- 98

58
- 73

401
- 43

27
+ 12

82
+ 84

13
+ 32

811
- 32

011
- 81

12
+ 28

131
- 99

17
+ 92

99
+ 26

29
- 43

701
- 78

26
+ 14

97
- 24

09
+ 98

12
+ 06

36
+ 98

68
- 75

59
- 11

29
- 25

8
+ 3

+ 8

+ 3

22
+

92
+ 2

- 9

- 7

+ 6

12
+

92
+

23
-

72
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5 0 3 + 0 0 + 7 4 7 = 3 = 7 7 +
8 1 = 3

Use the pieces above to help you fill in the runaway math puzzle.

It is 47 degrees Fahrenheit 
outside.  What would you 
wear if you are going 
outside?

Write the length in centimeters.

cm 1 2 3 4 5 6

7 0
- 1 1

The factors of 8 are 1 4
Circle the even numbers.
38 61 29 70
84 66 86 21
60 112 57 114

Cross out all of the prepositional 
phrases in the sentence.
Noah jumped into the swimming 
pool and swam to the other side.

7 + 4 = 9 -

8 - = 9 - 4

3

=

7 - 4 = - +

- - 0 6

1 0 9 + 8 1

5 5 + 2 = 1 6 2

4 = -

3 2 + 6 + 6 = 4 8

= 8 3

5 + 3 = 8 2

+ 1 9 - 6 = 0 +

3 7 2
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Multiply

Multiply the numbers by the number in the center.

547
3

2
22 6

9

8

x x

x x

11
734

8

6
5

25

9

2

x x

x x

5
43

30

8
6

2
9

5

7

x x

x x

10

6 x 3 = 11 x 12 = 3 x 6 = 7 x 9 = 4 x 5 =

5 x 7 = 1 x 10 = 4 x 0 = 2 x 11 = 9 x 8 =

12 x 10 = 8 x 2 = 2 x 6 = 4 x 4 = 9 x 0 =

Multiply the numbers by the number in the center.

638
7

2
4

5

9 45

x x

x x

5
328

9

7
5

55

4

6

x x

x x

11
452

3

7
6

18

8

9

x x

x x

3

2 x 2 = 12 x 7 = 5 x 8 = 11 x 4 = 3 x 6 =
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Can you draw lines to cover every number or shape in the picture?
You can only move left, right, up, or down.  And definitely no starting or stopping in a blank spot!

The first one is already done for you.  Good luck.

Draw exactly 8 lines.
Start on 1.
Do not pick up your pencil.

12

34

5 6

78

9

4
4

2
2 8

8
6

6

Draw exactly 8 lines.
Start on 1.
Do not pick up your pencil.

1

2 3

45

67

89

1 7
2

7

2

5

2

4

2

Draw exactly 8 lines.
Start on the square.
Do not pick up your pencil.

Draw exactly 7 lines.
Start on the square.
Do not pick up your pencil.

Draw exactly 8 lines.
Start on the square.
Do not pick up your pencil.
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Can you guess the word?
No duplicate letters can be used.

N O V E L
The letter N is in the word
and is in the correct spot.

P R I N T
The letter R is in the word, 
but R is not in that spot.

A B C D E F G H I J K L

A list of letters will be given that
have not been used. Good luck!

R G R G T E R P C H R E D S H R V E E

U E N N H C O I T T Z D H H U T U U D

C R I V E G E C H U T E L D R D X E I

I D E K D R R D E C R Y N I E I E H I

E U H N O D F E Q U E T N O R X T I R

R R R D E L Y R U E B E G R E D K H E

H E R B T R T I R E D N C G U U B R I

I T I G E R P G L Z I E V Z R E R H E

Hint: There are no duplicate letters in the answer.

S T A M P
C H U T E
T I G E R

B D F J K L N O Q V W X Y Z

Let's check if you guessed correctly. Look across or 
down to find the correct answer.

R I T R E H R W R E C R M A L T C J C

A E C A A C C T L I Z R A E C Z E K E

H T R C A P C A T H T R H A A A R V E

R A E E R T A R C R S A I E X C H B A

A E D L Y A R E A A A T C A A A I A X

Z H C R F T T A E A N C A E C R C E A

K P C C R B G E C E E R E E H C T A A

G K E A E Y E A T C A I G H A A C A T

Hint: There are no duplicate letters in the answer.

S T I N G
H E A R T
C R A T E

B D F J K L M O P Q U V W X Y Z

Let's check if you guessed correctly. Look diagonally 
to find the correct answer. (DIAGONAL!)

C B A K A B A B R B R A Y D A A T G D

A A R A A D N R R H Z B A K R T T R P

J L J O N S N R B A O R R C C A R B S

B D D V B N N Y A R N N N A A H Q N X

C R A D T B Y N A S R D D A N N T T D

Y B N F A R C N S Y D W C Y N R D B T

A U B C B R A C N T B T T D Y A N Y V

H G B N S A N V Z D A A T C A D Q F R

N C R Y N W S A N C B N B C A A H D C

N S N U Y W A D A D A R D S F R D D B

Hint: There are no duplicate letters in the answer.

C A N D Y
S T A N D

B E F G H I J K L M O P Q R U V

W X Z

Let's check if you guessed correctly. Look diagonally 
to find the correct answer. (DIAGONAL!)
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The newspaper listed the daily high and low temperatures for four cities (Lagos, Winnipeg, 
Athens, and Miami). The high temperatures were one degree Celsius, negative eight 
degrees Celsius, thirty-six degrees Celsius, and twenty-six degrees Celsius. The low 
temperatures were negative eighteen degrees Celsius, eighteen degrees Celsius, 
twenty-five degrees Celsius, and negative nine degrees Celsius.

Figure out the high and low temperatures for each city.

1. Miami's high temperature was not one degree Celsius.

2. Lagos' low temperature was not twenty-five degrees Celsius.

3. Lagos' high temperature of the day was forty-four degrees Celsius warmer than 
Winnipeg's low temperature of the day.

4. The difference between Lagos' low temperature and Miami's high temperature was 
eighteen degrees Celsius.

5. The difference between Athens' high and low temperatures was ten degrees Celsius.

6. Athens' low temperature of the day was colder than eighteen degrees Celsius.

7. Winnipeg had the lowest low temperature of the day.

8. Miami's high temperature of the day was warmer than negative eight degrees Celsius.

Lagos had a high temperature of  and a low temperature of .

Winnipeg had a high temperature of  and a low temperature of .

Athens had a high temperature of  and a low temperature of .

Miami had a high temperature of  and a low temperature of .

Which number is four 
thousand,  six hundred 
eighty-one?
4,681 60,184
4,618 46,081

What polygon has five sides?
1
3

+ 3 8

https://www.mathworksheets.com







